#### CITY OF VINELAND, NJ

## RESOLUTION NO. 2020-<u>546</u>

A RESOLUTION AUTHORIZING A CONTRACT AWARD TO A STATE CONTRACT VENDOR, SHI INTERNATIONAL CORP., SOMERSET, NJ, FOR INFOBLOX UPGRADE AND MAINTENANCE RENEWAL, IN THE AMOUNT OF \$77,842.26.

WHEREAS, the City of Vineland pursuant to N.J.S.A. 40A:11-12a and N.J.A.C. 5:34-7.29(c), may by resolution and without advertising for bids, purchase any goods or services under the State of New Jersey Cooperative Purchasing Program for any State contracts entered into on behalf of the State by the Division of Purchase and Property in the Department of the Treasury; and

WHEREAS, the City of Vineland intends to enter into a contract with a State Contract Vendor for Infoblox Upgrade and Maintenance Renewal, through this resolution and properly executed contracts, which shall be subject to all the conditions applicable to the current State contracts;

WHEREAS, it has been recommended that contract be awarded to SHI International Corp., Somerset, NJ, (A89851) based upon the proposal received, in an amount of \$77,842.26; and

WHEREAS, the availability of funds for said contract to be awarded herein have been certified by the Chief Financial Officer; and

WHEREAS, the City of Vineland has certified that this meets the statute and regulations governing the award of said contracts;

NOW, THEREFORE, BE IT RESOLVED BY THE COUNCIL OF THE CITY OF VINELAND, as follows:

- 1. THAT this contract for the SHI International Corp., Somerset, NJ, (A89851) is awarded pursuant to N.J.S.A. 40A:11-12a and N.J.A.C. 5:34-7.29(c), under the State of New Jersey Cooperative Purchasing Program.
- 2. THAT the Purchasing Agent be and the same is hereby authorized to issue a contract to SHI International Corp., Somerset, NJ, based upon the proposal received, for Infoblox Upgrade and Maintenance Renewal, in an amount of \$77,842.26.

Adopted.		
ATTEST:		President of Council
	City Clerk	

A dontade

22007507-M211/24/200

# REQUEST FOR RESOLUTION FOR COOPERATIVE CONTRACT AWARDS UNDER 40A:11-12, N.J.A.C. 5:34-7.29 & LFN 2012-10 (REQUIRED FOR PURCHASES OVER \$17,500.00)

### 11/24/2020 (DATE)

•	Goods or Services (detailed description): <u>Upgrade to Infoblox Maintenance Renewal</u>
2.	Amount to be Awarded: \$77,842.26
	Encumber Total Award Encumber by Supplemental Release
3.	Budgeted: By Ordinance No Or Grant: Title & Year
١.	**Account Number to be Charged: 0-01-20-140-1104-23017 \$35,029.02 0-07-55-502-8015-53017 \$7,784.23 0-05-55-502-9008-53017 E903 \$35,029.021
5.	Contract Period (if applicable):
ó.	Date to be Awarded: <u>12/22/2020</u>
7.	Recommended Vendor and Address: SHI International Corp. Suite 101
	290 Davidson Ave., Somerset, NJ 08873-4179
3.	Justification for Vendor Recommendation:(attach add'l information for Council review)  Quote # 19732752
	Type of Contract:  State  National  Regional County
	Vendor's Cooperative Contract # 89851
).	Evaluation Performed by: 18 Division Staff
0.	Approved by:
1.	Attachments
	☐ Awarding Proposal ☐ Other: Quote
ı	Send Original to: Purchasing Department

Send copies to: Business Administration

<sup>\*\*</sup>If more than one account #, provide break down



Pricing Proposal

Quotation #: 19795809 Created On: 12/8/2020 Valid Until: 2/18/2021

## NJ CITY OF VINELAND

# Inside Account Manager

### Victor Terenik

P.O. BOX 1508 ACCOUNTS PAYABLE VINELAND, NJ 08362 United States

Phone: 856-794-4692

Fax

Email: vterenik@vinelandcity.org

### Kayla Heinly

290 Davidson Ave. Somerset, NJ 08873 Phone: 732-868-8915

Fax:

Email: Kayla\_Heinly@SHI.com

### All Prices are in US Dollar (USD)

Product	Qty	Your Price	Total
Infoblox : Trinzic 825 Software Bundle, DDI and Grid Infoblox - Part#: TE-825-SWB-NS1GD	2	\$5,264.94	\$10,529.88
Infoblox : Infoblox Premium Maintenance-Enterprise for TE-825-SWB-NS1GD Infoblox - Part#: 4-TE-825-SWB-NS1GD	2	\$3,897.76	\$7,795.52
Infoblox : Trinzic 805 (Hardware only) Standalone Infoblox - Part#: TE-805-HW-AC-S	2	\$2,199.98	\$4,399.96
Infoblox : Infoblox Premium Maintenance-Enterprise for TE-805-HW-AC-S per year. Infoblox - Part#: 4-TE-805-HW-AC-S	2	\$1,628.70	\$3,257.40
Infoblox : Power Cord - Group A Infoblox - Part#: IB-POWER-CORD	2	\$0.00	\$0.00
Infoblox : Trinzic 815 Software Bundle, DDI and Grid Infoblox - Part#: TE-815-SWB-NS1GD	2	\$3,227.80	\$6,455.60
Infoblox : Infoblox Premium Maintenance-Enterprise for TE-815-SWB-NS1GD Infoblox - Part#: 4-TE-815-SWB-NS1GD	2	\$2,389.62	\$4,779.24
Infoblox : Trinzic 805 (Hardware only) Standalone Infoblox - Part#: TE-805-HW-AC-S	2	\$2,199.98	\$4,399.96
Infoblox : Infoblox Premium Maintenance-Enterprise for TE-805-HW-AC-S per year. Infoblox - Part#: 4-TE-805-HW-AC-S	2	\$1,628.70	\$3,257.40
Infoblox : Power Cord - Group A Infoblox - Part#: IB-POWER-CORD	2	\$0.00	\$0.00
Infoblox: Trinzic Software Module Term License, Advance DNS Protection with Infoblox Premium Maintenance-Enterprise for IB-SWTL-ADNS-TE-815 Infoblox - Part#: IB-SWTL-ADNS-TE-815-4	2	\$3,101.25	\$6,202.50

12	12 Infoblox: TR-5005 Reporting & Analytics Software Bundle, activation, requires Infoblox Reporting and Analytics Subscription License Infoblox - Part#: TR-SWBSUB-5005-ACTIVATION		\$0.00	\$0.00
13	Infoblox : Reporting and Analytics Subscription License, 1 License per Grid, requires Reporting and Analytics HW or Activation Software Bundle - EVAL Infoblox - Part#: TR-SWTL-500MB	1	\$0.00	\$0.00
14	Infoblox : Shipping charge Infoblox - Part#: IB-SHIP	4	\$92.70	\$370.80
15	Infoblox: BloxOne Threat Defense Advanced for 500-1249 Protected Users per year, for less than 3 years Infoblox - Part#: IB-SUB-THREAT-ADV-500-1250	600	\$43.99	\$26,394.00
		-	Total	\$77,842.26

The Products offered under this proposal are resold in accordance with the <u>SHI Online Customer Resale Terms and Conditions</u>, unless a separate resale agreement exists between SHI and the Customer.